SEHFR (RER (IMEZER) )
| HETH 4 | FI5HET |
| #EEREZl]  20:30 |
ERN
X5 5 = i
EXLBEHERR 16,842 A 17,418 A 34,260 A
BREEH 8,576 A 9,112 A 17,688 A
LER LAREEH 5028 A 5134 A 10,162 A
HERRESER 3,496 A 3,954 A 7,450 A
TEEREEHR 52 A 24 A 76 A
ZEER 8,266 A 8,306 A 16,572 A
BRER 50.92 % 52.31 % 51.63 %
=45
X5 5 £ H
EXLUBEHESR 10 A 17 A 21 N
BREEH 1 A 3 A 4 A
ER LAREEH 0 A 0 A 0 A
HEMRESEHK 0 A 0 A 0 A
FEEEREEHR 0 A PN 1 A
ENNEREEHR 1 A 2 A 3 A
BEFLREFH 0 A 0 A 0 A
ZEEHR 9 A 14 A 23 N
BRER 10.00 % 17.65 9% 14.81 %
EAN+&ESN
EE L] & B
BELUREEER 16, 852 A 17,435 A 34,287 A
BREEHRK 8,577 A 9,115 A 17,692 A
FEER 8,275 A 8,320 A 16,595 A
BREZ 50.90 % 52.28 % 51.60 %




